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Question Number : 1 Question Id : 3675232950 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Which of the following sites was discovered by J.P. Joshi?

Options:
1 % Lothal

> % Chanhudaro
z « Dholavira

4 % Banawali

Question Number : 2 Question Id : 3675232951 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
‘What was the real name of Muhammad-bin Tughlaq?

Options:
1 % Khusro Khan

> % Sher Khan
= + Jauna Khan

4 % Khizr Khan

Question Number : 3 Question Id : 3675232952 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Who was the first Chief Justice of India?
Options:

, % M. Patanjali Sastri

> % Mehr Chand Mahajan

% « H.J. Kania

4 % Sudhi Ranjan Das

Question Number : 4 Question Id : 3675232953 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25



Which state has the highest number of representatives in both the houses of Parliament?

Options:
, % Madhya Pradesh

- % Maharashtra
= % Andhra Pradesh

4 « Uttar Pradesh

Question Number : 5 Question Id : 3675232954 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
When was the Supreme Court of India established?

Options:
1 ® 16 January 1950

5 20 January 1950
z % 31 January 1950

4 % 15 August 1950

Question Number : 6 Question Id : 3675232955 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
The maximum limit to the total membership of the Legislative Council of an Indian state is

Options:
, w 1/2 of the total membership of the Legislative Assembly

- « 1/3 of the total membership of the Legislative Assembly
- » 1/4 of the total membership of the Legislative Assembly

4 % 1/5 of the total membership of the Legislative Assembly

Question Number : 7 Question Id : 3675232956 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Yuki Bhambri is associated with which game?

Options:



1 % Badminton
- » Wrestling
5 » Weightlifting

4 + Tennis

Question Number : 8 Question Id : 3675232957 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
How many medals did India win at the 2014 Asian Games?

Options:
1 ® 54

2\3“5?
T W 60

4 W 64

Question Number : 9 Question Id : 3675232958 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Which form of performing art is Teejan Bai associated with?

Options:
1 % Nautanki

- « Pandavani
= % Jatra

4 % Lavani

Question Number : 10 Question Id : 3675232959 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
The Chandogya Brahmana is related to which Veda?

Options:
; » Rig'Veda



> o Sam Veda
- % Yajur Veda

4 % Atharva Veda

Question Number : 11 Question Id : 3675232960 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
‘What was the temporary capital of Punjab after 19477

Options:
1 % Lahore

> % Amritsar

5 % Chandigarh

4 « Shimla

Question Number : 12 Question Id : 3675232961 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
What is the area of the smallest Union Territory Lakshadweep in sq. km.?

Options:
, % 26sq.km.

> o 325q. km.

4 % 64sq km.

Question Number : 13 Question Id : 3675232962 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
When was the first twenty-point Economic Programme announced in India?

Options:
1 % 1971

o W 1973



g *® 1977

Question Number : 14 Question Id : 3675232963 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
When was the ‘High Yielding Variety Programme’ (HY VP) launched in India?

Options:
| % 1964-65

> « 1966-67
5 % 1967-68

4 % 1969-70

Question Number : 15 Question Id : 3675232964 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
What is the study of fruits and fruit yielding plants called?

Options:
, % Agrology

- w Anthology

= % Floriculture

4 « Pomology

Question Number : 16 Question Id : 3675232965 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Which of the following is used for bulletproof glass?
Options:

, = Potash glass

- % Lead crystal

= o Lexan



4 % Flint glass

Question Number : 17 Question Id : 3675232966 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
The method of growing plants without soil is called:

Options:
, = agrology.

-  hydroponics.
5 % pomology.

, » anthology.

Question Number : 18 Question Id : 3675232967 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
The headquarters of ‘Universal Postal Union’ is located at which place?

Options:
1 % Geneva
- « DBeme

= % Rome

4 % Vienna

Question Number : 19 Question Id : 3675232968 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

To which dynasty did Bimbisara belong?
Options:

1 % Nanda

-  Haryanka
- % Maurya

, % Shunga



Question Number : 20 Question Id : 3675232969 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Who was the first Muslim invader of India?
Options:

1 % Mahmood Ghazni

-  Muhammad-bin Qasim

= % Mohammad Ghori

4 % Qutubuddin Aibak

Easic Computer Krnowledge

Section Id : 367523108

Section Number : 2

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 10

Number of Questionsto be attempted: 10

Section Marks: 10

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 367523126
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 3675232970 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

The ‘stored program concept’ was originally proposed by
Options:

, % Alan Turing

> % Dennis Ritchie
= + John Von Neumann

4 % Steve Wozniak

Question Number : 22 Question Id : 3675232971 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25



If instruction X tries to modify some data before it is written by instruction (X-1), it can result in a hazard.

Options:
1 % RAR

> % RAW
s % WAR

4« WAW

Question Number : 23 Question Id : 3675232972 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

contains a hierarchy of special files corresponding to the running processes and system hardware. representing
the current kernel status.

Options:
1 % ext3

o> #% extd
= % FFS

4 « broc

Question Number : 24 Question Id : 3675232973 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Douglas Engelbart is credited with the invention of the
Options:

, w» Blu-ray disk

> % keyboard
5 o mouse

4 % USB

Question Number : 25 Question Id : 3675232974 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Petya was that attacked many computer systems.

Options:
1« Tansomware



o % atrojan

= % avirus

4 % aworm

Question Number : 26 Question Id : 3675232975 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Belady’s anomaly may occur in

Options:
1 % deadlock detection

-  Dage replacement
5 % process scheduling

, % DProcess synchronisation

Question Number : 27 Question Id : 3675232976 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

The extra space that is added to the binding side of a page to ensure that the contents are not obscured by binding, is
called in Microsoft Word.

Options:
1 % Indent

> x Justify

= o QGutter

4 % TLypeface

Question Number : 28 Question Id : 3675232977 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
SHA-1 generates a hash code of size bits.

Options:
1 % 128

>« 160



Question Number : 29 Question Id : 3675232978 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

The Government of India’s all-in-one multi-platform mobile app for accessing various state/central government services
is called

Options:
1 % BharatNet

5 % UDAY

4 v UMANG

Question Number : 30 Question Id : 3675232979 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
is a consortium of firms including Google, Intel, Dell. Samsung, Sony. HTC etc., to develop open standards for
mobile devices.

Options:

1 % FCC

> % FOSS

= « OHA

4 % W3C

Logical Reasoning

Section Id : 367523109
Section Number : 3
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions; 25
Number of Questionsto be attempted: 25
Section Marks: 25
Display Number Panel: Yes

Group All Questions: No



Sub-Section Number: 1
Sub-Section 1d: 367523127
Question Shuffling Allowed : Yes

Question Number : 31 Question Id : 3675232980 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Which word CANNOT be formed using letters of the given word only as many times as each letter appears in the word?

BLASPHEMOUS
Options:
. v HAMPER

> % SAMPLE
- » HOUSE

4 % SPOUSE

Question Number : 32 Question Id : 3675232981 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Select the pair of words from the given options that shares the same relationship as the word pair below does.

Smart : Clever
Options:

, » Economical : Prodigal

> of Lively : Vivacious
% % Dormant : Active

4 % Thunderous : Restrained

Question Number : 33 Question Id : 3675232982 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Three out of the four words below are similar in a certain way and one is different. Select the option that is different
from the others.

Options:
, % Desktop

» % Laptop

- « Hilltop



, % Palmtop

Question Number : 34 Question Id : 3675232983 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Select the option that is related to the third term in the same way as the second term is related to the first term.

Statue : Sculptor : : Book : ?
Options:
1 « Author

5 % Story
= % Publisher

4 % Editor

Question Number : 35 Question Id : 3675232984 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Select the option that is related to the third term in the same way as the second term is related to the first term.

Zebra : Wild : : Horse : ?
Options:
1 % Fast

> « Domestic
5 % Mammal

4 % Foal

Question Number : 36 Question Id : 3675232985 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
In a code language, BASEMENT is coded as ABRFLFMU. How will DRIVEWAY be coded in that language?

Options:
, » EQIUFXZZ
> % CSHUFVBX

s « CSHWDXZZ



., » EQIUDVBX

Question Number : 37 Question Id : 3675232986 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

If ‘grass’ is called ‘nest’; “nest’ is called ‘tree’; ‘tree’ is called ‘lake’; and ‘lake’ is called ‘ship’, where will
birds lay eggs?

Options:

| ® grass

> % lake

2  tree

4 % ship

Question Number : 38 Question Id : 3675232987 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Shyamlal left for his office on foot. He walked 2 km straight from his home towards the east. Then turning to his right,
he walked for 4 km. After taking a left turn, he walked for 2 km and reached his office. In which direction is Shyamlal’s
home located with respect to his office?

Options:
1 % South-west

> % North-gast
= % South-east

4 « North-west

Question Number : 39 Question Id : 3675232988 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Prabha travels 3 km, from her home, straight towards the west to reach her gym. If she takes an immediate right turn
from the gym (while facing the gym) and travels 2 km, she reaches her office. In which direction is Prabha’s home
located with respect to her office?

Options:
1 % North-east
- % North-west

5 « South-east



4 % South-west

Question Number : 40 Question Id : 3675232989 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
An address is given below which has been reproduced against the four alternatives. Of them, three have some mistakes
or the other, while one is exactly the same. Select the option that is exactly the same as the given address.

Shri. Rajiv Lochan Dubey
H. No. 547,

Bazar Lane, Shahgunj.
Farrukhabad.

Uttar Pradesh — 121 341

Options:
Shri. Rajeev Lochan Dubey
H. No. 547,
Bazaar Lane, Shahgunj.
Farrukhabad.

1 % Uttar Pradesh — 121 341

Shri. Rajiv Lochan Dubay
H. No. 547,
Bazar Lane, Shahgunj,
Farukhabad.

> % Uttar Pradesh — 121 341

Shri. Rajiv Lochan Dubey
H. No. 517,
Bazar Lane, Shahpur,
Farrukhabad.

5 % Uttar Pradesh — 121 341

Shri. Rajiv Lochan Dubey
H. No. 547,
Bazar Lane. Shahgunj.
Farrukhabad.

4 « Uttar Pradesh — 121 341

Question Number : 41 Question Id : 3675232990 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
What will come next in the series?

adgj. behk. cfil, ?
Options:



;. % dgn
> % dgim
- % dhkn

4 v dgm

Question Number : 42 Question Id : 3675232991 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Select the option that is related to the third term in the same way as the second term is related to the first term.

ZXVT UYWUS: :SQOM : ?
Options:
, % DFGIJ

» % PNLK
o W ENPK

4 v BRPNL

Question Number : 43 Question Id : 3675232992 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Bipasha is Nikhil’s only sister. Nikhil’s wife, Sarita, has a brother, Sagar. Girima is Bipasha’s only niece. How is Girima
related to Sagar?

Options:

1 « Niece

> % Sister
%z % Sister-in-law

4 % Cannot be determined

Question Number : 44 Question Id : 3675232993 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Pointing to a photo, a man said. “This boy is my father’s only brother’s only nephew.” How is the man related to the
boy in the photograph?

Options:



1 % Father
> « Himself
= % Son

4 % Nephew

Question Number : 45 Question Id : 3675232994 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Usha runs faster than Kapil. Hanif runs faster than Usha. Varsha runs faster than Sameer but slower than Bijli. Which of
the following will be definitely correct if Sameer runs faster than Hanif?

Options:

, w Ushais the slowest among the given friends.

- % varsha is the fastest among the given friends.
-  Bijli is the fastest among the given friends.

, % Kapilis not the slowest among the given friends.

Question Number : 46 Question Id : 3675232995 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Read the following information about the marks scored by five friends on a class test and answer the question that
follows.

Maya scored more marks than Yuvi and Bhumika. Vimal scored more marks than Keshav but less than Hima. Keshav
scored more marks than Yuvi but less than Bhumika. Who among these students scored the highest marks?

Options:
% Maya

1
- % Vimal

- % Keshav

4  Datais inadequate to determine answer

Question Number : 47 Question Id : 3675232996 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25



Five friends, Aman, Naman, Tapan, Bomman, and Chaman, are sitting around a circular table, not necessarily in that
order. Aman is not sitting next to Bomman. Tapan is sitting between Chaman and Bomman. Aman is sitting to
Chaman’s right and to Naman'’s left. If all the friends are facing the centre of the table. who among the following is
sitting to the left of Bomman?

Options:
1 ® Aman

- % Chaman
= « INaman

4 % Tapan

Question Number : 48 Question Id : 3675232997 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
What will the next two numbers be in the series?

4.7.8,14,12.21.2.7
Options:
, « 16,28

, w 16,32
5 % 18,26

. % 18,28

Question Number : 49 Question Id : 3675232998 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
What will come next in the series?

t Wy o
Options:
1 & 21

2 v 29



Question Number : 50 Question Id : 3675232999 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Some equations are solved on the basis of a certain system. On the same basis, find out the correct answer from

amongst the four alternatives for the unsolved equation.
8+4=64.7+5=70,9+6="

Options:
i « 108

o W 06
T W a0

4 % 112

Question Number : 51 Question Id : 3675233000 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
If *S* means ‘Addition’, “(@" means ‘Subtraction’, ‘¥’ means ‘Multiplication’, and *©° means ‘Division’, then 56 © § #
385@8="2

Options:
1 #® 34

2_\-;?13
= W 12

4 % 128

Question Number : 52 Question Id : 3675233001 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
What will be the value of the expression given below if the sign “x’ changes its place with ‘+° and the number *7°
changes its place with “2°?

(7x2)y+81="7
Options:

L« 729

o W 05

= % 1134

4 ® 00



Question Number : 53 Question Id : 3675233002 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes

3@*#SFSw#*ShW2

Single Line Question Option : No Option Orientation : Vertical
Correct : 1 Wrong: 0.25
In the set of letters, symbols and numbers given below, how many times does * come immediately before # but not

immediately after $?
731281!'@*#8% @*#82gQOL%!*5#18%!638*

Options:
1.¢ 3

2_%4

t
®
LA

4 % 6
Question Number : 54 Question Id : 3675233003 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Select the option that is different from the other three.

Options:

4 ® -
Question Number : 55 Question Id : 3675233004 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25



In the following questions, two statements are given, which are followed by two conclusions numbered 1 and 2. Take
the given statements to be true even if they seem to be at variance from commonly known facts. Read the conclusions
and then decide which of the given conclusions logically follow(s) from the given statements. disregarding commonly
known facts.

Statements:
All actors are girls.
Some girls are leaders.

Conclusions:

1. All girls are actors.
2. All leaders are girls.

Options:

, w Only conclusion 1 follows.

- % Only conclusion 2 follows.

= % Both the conclusions follow.

4 « Neither conclusion follows.

Murmerical Aptitude

Section Id : 367523110

Section Number : 4

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions; 25

Number of Questionsto be attempted: 25

Section Marks: 25

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 367523128
Question Shuffling Allowed : Yes

Question Number : 56 Question Id : 3675233005 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25



Select the option that will replace the question mark (?) and complete the series correctly.

QAR OARO

Options:

1 ® 2
2_%5

3.9 7

4 % 8

Question Number : 57 Question Id : 3675233006 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Select the option that will replace the question mark (?) and complete the series correctly.

2. 30,138, 350, 738. 7
Options:
L % 1525

o> o 1342
2 % 1100

4 % 1740

Question Number : 58 Question Id : 3675233007 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Select the option that will complete the given series.

4,216, 9, 512, 25, 729, 49, 1000, 121, 1728, 169, 2744, ,
Options:
| % 225,4096

. % 289, 4096



5w 225,4096

4 v 289,3375

Question Number : 59 Question Id : 3675233008 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

3 1o Aoty et 2 3l_gohyoq_k . i
If[; + {25 - (5 of E]}] = [3 + {44 (36 23)}] 1 21_.thenF:]:1e#.-alue of kis:
Options:
1. %

| ]

2_%3

LA

3. v

Question Number : 60 Question Id : 3675233009 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

= 2341 ¥ 134 =2 x 11Yx 135¢ = 280 117013 andd = 27 % 114 13, thaithe
LCMofa. b, cand d is:

Options:
| » 22 %13

o % 11% X 265

- % (11 X 26)*

4 % 115 x 26%

Question Number : 61 Question Id : 3675233010 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Let x be the greatest number by which when 152, 277 and 427 are divided, then the remainder in each case is y. The
value of (x —y) is:

Options:

1 & 21



Question Number : 62 Question Id : 3675233011 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
A common factor of (52737° + 4733%7%) and (52756 — 4736%) is:

Options:
1 *® &0

5 % 120
5 o 125

4 % 175

Question Number : 63 Question Id : 3675233012 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Shashi saves 12% of her income. If her income is increased by 25% and she now saves 15% of her income, then by
what percentage will her actual savings increase?

Options:
1 ® 6.75

> % 13.5

4 o 56.25

Question Number : 64 Question Id : 3675233013 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
A person bought two articles, P and Q. The cost price of P was 75% of Q. He sold P at a loss of 5% and Q at a gain of
15% and thus got T 745 in all as the selling price of P and Q. The cost price of Q was:

Options:
1 % T300
> % X360

2 « 400



4 % T480

Question Number : 65 Question Id : 3675233014 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

A sum of ¥ 22,750 is divided amongst P. Q. R and S such that ratio of shares of P and Q. Q and R and R and S. each is
equal to 2 : 3. The share of R is:

Options:
. % $2.800

o w T 4.200
5 % < 5.400

4 v 6300

Question Number : 66 Question Id : 3675233015 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Two alloys, A and B, contain copper and zinc in the ratio 1 : 3 and 5 : 2 respectively. Three kilograms of A and 2
kilograms of B are melted to form an alloy C. What is the ratio of zinc to copper in C?

Options:
1 & 79:61
> #® 61:79

=z % 103 : 37

4 % 37:103

Question Number : 67 Question Id : 3675233016 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
If(15x + 7y): (7x + 15y) = 29: 37, then (156x% + 7y?): (7x%+ 15y?) is equal to:

Options:
1 ® 37:67

> ® 67:37

= % 67:43



Question Number : 68 Question Id : 3675233017 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
A sum of T 52.040 is divided between A and B such that amount of A after 3 % years is equal to the amount of B after 4

2E years, when the interest is compounded half yearly at 8% per annum. The difference between the amounts of A and B is:

Options:
. % <1800

5 » T 2,040
2 % < 2,060

4 % T2.400

Question Number : 69 Question Id : 3675233018 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

A loan of < 8.400 is to be paid back in two equal annual instalments. If the interest charged is 10% per annum, then each
instalment is:

Options:
| % <4.800

, u < 4,820
5 » 4,840

L x T4.880

Question Number : 70 Question Id : 3675233019 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

The average score of students in an examination is 65. The average score of 15 students who failed is 25. If these
students are excluded. the average score of students would increase by 20 marks. The number of students initially is:

Options:
1 #® 40
> « 45

T W 48

E 50



Question Number : 71 Question Id : 3675233020 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct : 1 Wrong: 0.25
A 248 m long train running at a speed of 108 kim/'h overtook another train of length 112 m in 36 seconds. What is the

speed of the other train?
Options:
1 % 66 km/h
- % 70km/h
4 % 75km/h

Question Number : 72 Question Id : 3675233021 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct : 1 Wrong: 0.25
Ravi travelled from a place A to B at 40 km/h and from B to C at 60 km/h. If his average speed for the entire journey
was 52 km/h, then AB : BC =7

Options:
1 % 2:3

> % 1:3

' 9

LA

3 ®

4 v 4:9
Question Number : 73 Question Id : 3675233022 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes

Correct : 1 Wrong: 0.25

Single Line Question Option : No Option Orientation : Vertical
10 persons can produce 1,000 units in 20 days, when working 8 hours a day. In how many days will 12 persons produce
1,500 units, if they work 5 hours a day?

Options:
1 & 32

4 % 45
Question Number : 74 Question Id : 3675233023 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical



Correct: 1 Wrong: 0.25

In completing a task. A is thrice as fast as C and B is twice as fast as C. When all three work together, they can
complete the task in 15 days. In how many days can A alone complete the task?

Options:
, » 20 days

o 30 days
s % 45 days

, % 90 days

Question Number : 75 Question Id : 3675233024 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

A swimming pool is 40 m long and 18 m wide. Its shallow and deep ends are 0.7 m and 3.55 m respectively. If the
bottom of the pool slopes uniformly. then the amount of water required to fill the pool is:

Options:
| % 1480m°

5> « 1,530 m?>

3 % 1575 m?

4 % 1.680m?

Question Number : 76 Question Id : 3675233025 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Four cubic metres of a metal are required to prepare an iron sheet of area 20,000 square metre. What is the thickness
(in cm) of the sheet?

Options:
L« 0.02
5 % 0.002

o W 0.2

Question Number : 77 Question Id : 3675233026 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct : 1 Wrong: 0.25

What is the ratio of the area of a field in the shape of an equilateral triangle of side 2a units to that of a square-shaped
field with diagonal length 2a units?

Options:
1 % 2:3

2 x V2:3

5v V312

4 ® 3:2

Question Number : 78 Question Id : 3675233027 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

A circle is inscribed in an equilateral triangle of sides 12 cm. The area (in cm? ) of the region outside the circle and
within the triangle is:

Options:

% 122vV3-m)
> v 123V3—m)
2 % 123V2—-m)

L % 12Q2V2—m)

Question Number : 79 Question Id : 3675233028 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
The number that should come in place *?° is:

Options:
1 # 12



Question Number : 80 Question Id : 3675233029 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
What number will come in place of *?° in the following series?

6, 60, 210, 504, 990, ?

Options:

1 % 1100

oow 1670

5 o 1716

4 % 1840

General English

Section Id : 367523111
Section Number : 5
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 20
Number of Questionsto be attempted: 20
Section Marks: 20
Display Number Panel: Yes
Group All Questions: No

Sub-Section Number: 1
Sub-Section 1d: 367523129
Question Shuffling Allowed : Yes

Question Number : 81 Question Id : 3675233030 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Choose the word from the options that is closest in meaning to the given word.

Apathy
Options:



1 % Enthusiasm
- % Sympathy
3 « Indifference

, » Empathy

Question Number : 82 Question Id : 3675233031 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Choose the word from the options that is closest in meaning to the given word.

Vacillate

Options:
1 « Waver

- % Persist
- % Remain

4 % Continue

Question Number : 83 Question Id : 3675233032 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Choose the word from the options that is farthest/opposite in meaning to the given word.

ALLEGIANCE
Options:
1 % Adherence

5 % Support

3 % Deference

4  Ireachery

Question Number : 84 Question Id : 3675233033 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25



Choose the word from the options that is farthest/opposite in meaning to the given word.

CASTIGATE
Options:
1 % Penalise

5 « Approve

- % Reprimand

4 % DBerate

Question Number : 85 Question Id : 3675233034 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Choose the word from the options that is farthest/opposite in meaning to the given word.

LACKADAISICAL
Options:
1 % Indifferent

- % Careless

- % Lethargic

4  Energetic

Question Number : 86 Question Id : 3675233035 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Find the meaning of the idiom underlined in the sentence from the given options.

The Principal cannot bury his head in the sand. He has to address the increasing problems.

Options:

, % Bury his head due to the complaints

-  Runs away from the increasing problems

= % Not show his face due to shame

., » Bury his head among the papers and complains



Question Number : 87 Question Id : 3675233036 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Find the meaning of the idiom underlined in the sentence from the given options.

The entire country was on cloud nine as the Indian team won the world cup.
Options:

, % Sitting under the cloud

-  Extremely happy

= % Under a cloud of sorrow

, » Influenced by a mysterious cloud

Question Number : 88 Question Id : 3675233037 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Find the word from the given options that is closest in meaning to the given phrase.

A choice between things
Options:
1 % Alternate

> o Alternative
3 % Alternation

4 % Alternatively

Question Number : 89 Question Id : 3675233038 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Find the word from the given options that is closest in meaning to the given phrase.

To give up
Options:
1 % Believe

> % Waiver



3 « Abandon

4 % Relate

Question Number : 90 Question Id : 3675233039 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Find the word from the given options that is closest in meaning to the given phrase:

To act unethically

Options:
1 % Immobile

> « Immoral
5 % Immortal

, % Impossible

Question Number : 91 Question Id : 3675233040 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
The underlined part in the below sentence is INCORRECT. Choose the option that can replace the underlined part and
correctly complete the sentence.

Not only the patients but also the doctor visit the chapel as it gives them comfort.

Options:
, « Not only the patients but also the doctor visits the chapel

-~ % Not only the doctor but also the patients visits the chapel

- % Notonly the patients and also the doctor visits the chapel

, % Notonly the patients but also the doctor are visiting the chapel

Question Number : 92 Question Id : 3675233041 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
In the following questions select the most appropriate option which should replace the underlined word/phrase to make
it grammatically correct. If the sentence is correct as it is given and no correction is required, mark ‘“No change required”
as the answer.

Honour and glorv is the reward of one who is humble and pure.
Options:



, « Honour and glory are the reward

-~ % Honour and glory was the reward

- » Honour and glory were the reward

, % No change required.

Note: For thisquestion, discrepancy isfound in question/answer . Full Marksisbeing awarded to all candidates.

Question Number : 93 Question Id : 3675233042 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Choose the best option that indicates the change of voice for the sentence given below.

One should keep his promises.
Options:

, % Promises are to be kept by one.

- » His promises are kept by one.

-  Promises should be kept.

, % Promises shall be kept by one.

Question Number : 94 Question Id : 3675233043 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Choose the best option that indicates the change of voice for the sentence given below.

Macbeth was deceived by the enticing words of three witches, which led him to his destruction.
Options:
, % Macbeth deceived by the enticing words of three witches which led him to his destruction.

- % Macbeth deceived the three witches by the enticing words.

3 %
Macbeth were deceived by the enticing words of three witches, which led him to his destruction.

4  Three witches deceived Macbeth by their enticing words, which led him to his destruction.



Question Number : 95 Question Id : 3675233044 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Choose the best option that indicates the change of voice for the sentence given below.

Who first created the art of printing?
Options:
, % By whom created the art of printing first?

- % By whom are the art of printing created?
- % By who were created the art of painting?

4 By whom was the art of printing created first?

Question Number : 96 Question Id : 3675233045 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Choose the appropriate verb to fill in the blank.

In the 12th century. respected scholars who taught in Timbuktu to as ‘ambassadors of peace’.
Options:
1 % are referred

> % was referred
= % referred

4 « were referred

Question Number : 97 Question Id : 3675233046 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Choose the appropriate verb to fill in the blank.

During the freedom struggle in 1940s, he a novel for 10 months.
Options:
, % has been writing

- % Wrote

-  had been writing



4 % Wwas writing

Question Number : 98 Question Id : 3675233047 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Choose the appropriate verb to fill in the blanks.

This car the house for the past two weeks, at the same time every evening.
Options:
, w» Dassed

-, % Ispassing
- « has been passing

4 % Dpasses

Question Number : 99 Question Id : 3675233048 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Complete the sentence choosing the most appropriate option.

Shakespeare is recognised not only as a great dramatist

Options:
, w aswell as a poet with extraordinary sensibility

> % asapoet with extraordinary sensibility

- » asifapoet with extraordinary sensibility

4 « butalso as a poet with extraordinary sensibility

Question Number : 100 Question Id : 3675233049 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Complete the sentence choosing the most appropriate option.

The new books are adapted and designed :
Options:
, % suiting for young readers



- 1o suit young readers

5 » for suitable young readers

, % for suiting young readers



